
EECS2030 Advanced Object-Oriented Programming
(Fall 2021)

Q&A - Lecture 3

Wednesday, October 20



Announcement

- Lecture W6 (released: Oct. 18)
- Lab3 (released: Oct. 20; due: Nov 1)
- Written Test 2 (due: Oct. 28/29)
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So the default equals method only compares the id numbers? 
If id numbers match then it is true? (Part B; timestamp 9:00)

public class Object {
   ...
   public boolean equals(Object obj) {
      return this == obj;
   }
}

extends

public class PointV1 {
   private int x;
   private int y;
   public PointV1 (int x, int y) {
      this.x = x;
      this.y = y;
   }
}
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Why wouldn’t you use .equals to figure out 
if this and obj are objects of the same type? 
Wouldn’t != only show you if the objects are not of the same type? 
(Part C2; timestamp 9:00)
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public class PointV2 {
  private int x; 
  private int y;
  public PointV2 (int x, int y) { ... }
  public boolean equals(Object obj) {
    if(this == obj) { return true; }
    if(obj == null) { return false; }
    if(this.getClass() != obj.getClass()) { return false }
    Point other = (PointV2) obj;
    return this.x == other.x 
          && this.y == other.y;
  }
}

extends

public class Object {
   ...
   public boolean equals(Object obj) {
      return this == obj;
   }
}
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Figuring Dynamic Types

public class PointV2 {
  private int x; 
  private int y;
  public PointV2 (int x, int y) { ... }
  public boolean equals(Object obj) {
    if(this == obj) { return true; }
    if(obj == null) { return false; }
    if(this.getClass() != obj.getClass()) { return false }
    Point other = (PointV2) obj;
    return this.x == other.x 
          && this.y == other.y;
  }
}

extends

public class Object {
   ...
   public boolean equals(Object obj) {
      return this == obj;
   }
}
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At Part C5; 12:23, doesn’t reference equal just mean that 
they are both pointing at an object with the same dynamic type, (e.g. Pointv2) 
or is that a different term/idea?
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(A) Two objects are reference-equal.
(B) Two objects are contents-equal.

- If (A) is true, then (B) is true.
- If (B) is true, then (A) is true.

public class PointV2 {
  private int x; 
  private int y;
  public PointV2 (int x, int y) { ... }
  public boolean equals(Object obj) {
    if(this == obj) { return true; }
    if(obj == null) { return false; }
    if(this.getClass() != obj.getClass()) { return false }
    Point other = (PointV2) obj;
    return this.x == other.x 
          && this.y == other.y;
  }
}

extends

public class Object {
   ...
   public boolean equals(Object obj) {
      return this == obj;
   }
}
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Why do you need a cast (point) on obj? 
Is it because you can’t know for sure what the dynamic type of obj is? 
(Part E; timestamp 8:50)

public class PointV2 {
  private int x; 
  private int y;
  public PointV2 (int x, int y) { ... }
  public boolean equals(Object obj) {
    if(this == obj) { return true; }
    if(obj == null) { return false; }
    if(this.getClass() != obj.getClass()) { return false }
    Point other = (PointV2) obj;
    return this.x == other.x 
          && this.y == other.y;
  }
}

extends

public class Object {
   ...
   public boolean equals(Object obj) {
      retuen this == obj;
   }
} §::¥¥Tetum
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